8

THIS DRAWING IS UNPUBLISHED.

RELEASED FOR PUBLICATION

@ COPYRIGHT 20 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED.

D5

™
L
4 B
\_/ L
0
L

"A" FRAME HANDLE

(NOT

INCLUDED)

Loc DIST REVISTONS

CM O O P LTR DESCRIPTION

DATE DWN APVD

| PRE-RELEASED

270CT2003 | KW JE

0 REVISED PER 063B-1056-04

| 4MARO6 KW JE

1 /4-20 NUT

| /4-20 LOCK WASHER

I EA

— =

O PO

_

N
I

(£

<<

ﬁ

O -

| /4-20 ROUNDHEAD SLOTTED MACHINE SCREW

10-32 NUT
| EA

SN

TOP CLAMP
I EA

BOTTOM CLAMP
| EA

10-32 LOCK WASHER
| EA

| EA

A HARDWARE KIT CONSISTING OF SCREW, LOCKWASHER, AND NUT
'S INCLUDED IN THE CLAMP KIT.

CLAMP MATERITAL IS 6 GA. [.06] THICK COLD ROLLED STEEL.

BRIGHT ZINC PLATED.

|1 0-32 ROUNDHEAD SLOTTED MACHINE SCREW

647703~
PART NUMBER
L2 TS RO s g e o [OW L £T00T2003 tyco Tyco Electronics
M ElLls 210CT2003 Electronics Harrisburg, PA 17105-3608
DIMENS TONS: OTHERWISE SPECITIED: APVD 2T10CT2003 [NamE
mml I NCHES] J ELLIS CABLE CLAMP KIT,
0 PLC +- PRODUCT SPEC
| olc T AMP POWER SERIES 175
{ig{:::}zpm +0.50 [.020] - -
3 PLC +- APPLICATION SPEC
4 PLC +- SIZE CAGE CODE |DRAWING NO RESTRICTED TO
ANGLES +0°30° -
MATER 1AL FINISH WEIGHT . A ‘ 00779 @:647703 _

CUSTOMER DRAWING

SCALE

3

OF REV
0

AMP 4805 REV 3IMAR2000

Pro/ENGINEER DRAWING




